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It is understood that Eirusin is different from Eirusin

Overview

The X3 attempted to prove that 721V 1°017°K T° from a Xn>°72 which states, that a
father may sell his widowed daughter to a 7173 175. The difficulty is that he cannot
sell his daughter mw>X AnX. The X answered that she was widowed from 7% (so
it is considered NMNdW AR MIOW, but not MWK IR NOY). However if PRIW°1 T
7w, how can the father sell her after (7X1w°1) Ty, this proves that 72 PPO1R TV,
The X3 asks but even if 7wy 1°017°KR, how can he sell her MR X MndwH? The
X3 answers if WY 017X MY we can distinguish between regular 1°017°X and 71v°
017X, however if 7w PRIV 77, we cannot distinguish regular PXW°1 from 7Y
TR, MvoIN discusses why we can distinguish between 1°017°X but not between
PRIV,

- 19915 199 AYWTP XY NINT 19T D957 POIPN INY WIN9
The explanation of “IXWw 1°017°X1 101K is that her 101X (from T1¥) is different
from 7017°X which her father made, for since her father was not wp» her (by

71v°), he can sell her, but when her father was w7pn her, he cannot sell her M R X MW -
- 259109 N5MYAN KDY RIININTAT 119 700D WD 5INY 1 PRIV PRIV NN

However can the 8w (of 71v° [if we assume 7w PRSI T3°]) be different
from regular PR (through her father); and >''w= explained that there can be no
difference between these two types of PXwrl, since by X121 she leaves her
father’s n1w entirely, 579057 3. This concludes >"wo:

nooIn asks:
- o5 991 29595 13295515 RIMNINT NA M) POYPR KDY DY)

And there is a difficulty with >"w"5, for PO1R is also effective to acquire a
woman RNnMIRTR, as we derived previously from the 105 of 13 95 —

MooIN anticipates a response to his question:

Do g w00,

* It seems that *"w" is making two distinctions between 1°017°X and 1°XW°3; by 1R it is Xn»T» (implying that by
PO1R it is not XnN»7K7), and secondly that by "Rl she leaves her father’s mwn entirely, as opposed to 7°017°X.
Mmoo questions both these assumptions.

3a7.

4 X,73 (X¥N) oM.
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And if you will say that (even though both PXWN PO1R are XN™IIRT),

nevertheless one can differentiate between 1°017°8 and PN -
- 70‘1\9)1?7‘ w973 59935 MrmuIn NP9 PRIVNIAT OIVN

Because by 7R121 she leaves the father’s n1w1 entirely, as >''w9 explained —

mooIN rejects this explanation:
- INYT ROV ANT NIMYIN NPOIT 393 991 “N9INY DY NIDN SN NIV NNT NIPY XN

For this is not so!, because regarding a /muwp, if she would give herself over to
72w (X1w1) without her father’s consent would it be also true that she goes out
from the nyw= of her father; obviously it is not so!

mooIn resolves *"wId:
= NV PODIPINN 1P0IN NNIYYA 95N DIVNPN U1 aW»H W 7o)

Therefore we should explain ''29 in this manner; it is understood that °01°8

of the master is different from J°9Y9°R of the father -
- Zmbya gy 19973 9909 15 XYY Awa1Y 1991 999 NYD ANT MW ININT

Since by 1017, the daughter is still in the nyws of her father for all manner of
things; regarding inheriting her, being permitted to become x»w for her, and to
nullify her vow together with her husband (the o1x) -

> Moo now assumes that "1 (when he stated Xn»x77) did not mean that TXW*1 is Xn™IKT as opposed to 101K
(not like footnote # 2), but rather >"w1 meant to say that only by 1"XW°1 does she leave her father mwn completely
(RDMIRTN).

® This seems to mean that the act of PR3 (any type of PXW1 [including 737]), severs the authority of the father
over his daughter. Therefore it is obvious that he cannot sell her, because he has no authority over her.

7 "1 meant to say that regarding PR3, since she leaves her father’s mwA entirely, there is no logic to distinguish
whether the X1 was through the father or through the master (see footnote # 6); however by 1°017°R, since even
after the 701X, the daughter does not leave her father’s nwn completely (the father still retains certain rights over
her [7°971 7991 7% X AwarY]), we would think that if the father made the 107X, then he cannot sell her;
however if the master made the 017X (through 71v°) the father may still resell her.

¥ This seems to be a hypothetical (rhetorical) question, since a 7P does not have the power to enter into 7917
without her father’s consent. M0 is asking hypothetically even if it were possible for a 71vp to enter into 7917 on
her own, would she leave her father’s mwn?! Obviously no! Because since it was not the father who brought her to
the 71911, therefore she is not 1Mwn NXXY, the same is by 7y that since the father did not make the 1R1w"1 she is still
1Mwaa. We are disproving the assumption (in footnote # 6) that X1 has the power to sever the relationship
between father and daughter.

? We see that X121 does not automatically remove her from her father’s mw, therefore why should we assume that
the PR3 of T, takes her out of her father’s nwn. We can therefore differentiate between 1PXw»1 of the father and
the X1 790 of the master, just as we differentiate between the 7°017°X of the father and the 101X 7w of the
master.

01f the daughter died as an 7017 and had assets, her father inherits her.

" If the father is a 17172 he may be &nwvn to his daughter at her funeral (even) if she is an 701X.

"2 Her father and her 01X together can nullify her vows.
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Except for selling her as an nnX; that he is not permitted to sell her after he

received money for her pun7p -
- Bygr1n XX 13 P79 PR 99905 NIINY WITH 91 RNYN XA )9 OX

Therefore this prohibition of not selling her is a novelty, so we can say ‘the
novelty is only where it is’ -

= PYITP NANR DAYPYI WINO N1 PDITIND WITH NN INDPIND RIIN)
So we can apply this novelty (of not being able to sell he 7017 71VP daughter)
only by his 1219°X, meaning when the father was 7217°p %2p» (but not by the 7y

7017°R of the master) -
- Bang nomwan sy 1Y DO 19999) PNIV YaN

However by complete 1Xw2s1, which remove her completely from the father’s
nwn -

- 1505 19281 2812 KY 523 DT PRIV N30T PRIVIIY 1191 PRIV 1P DINY PPN 19 ON
So there is no reason to distinguish between her PRws: (through 7v°) to the
father’s PR3, and even by her (71v°) PR, her father cannot sell her after 7y —

mooIn responds to an anticipated difficulty:17
:99na *axt nmwuan NPT INSYN RD NOIND MW NIDNNT NIVP YAN

1 The n"21 N3 amends this to read XX 12 7 (instead of XX 72 79).

'* When the 70 teaches us something unusual (like here where the daughter is her father’s mw~ for everything
except 17" [the inability to sell her is a w17°r]), we assume that this 171 is limited to the case where the 77N
taught it, and we cannot apply it elsewhere.

'> When *"w1 writes PMwan 13> Xpo1 he means to say, that only by 1% where she leaves his nwA entirely, we
can make no distinction between 2X7 *"V PRXW1 and Ty "KW (the inability to sell her is not merely a specific 10X,
but rather it is included in the 287 Mwan 7%°X°); however by 1°017°X where she does not go out of her father’s mwA,
and there is the exception of 17" (in which she leaves her father’s n1w), we can say that this exception is limited
(WTn X9R 12 77 PR), only to AR W TP (since he is receiving money for her 1w17°p), but not for 7> w1 1p (where
he receives nothing).

'® To summarize; regarding 1°01x the daughter is still 2% mw132; the fact that nonetheless he cannot sell her is a
w17, We can argue that this w17 is only if was w7pn her (since he already received her Pw17°p 703, so the 77N
prohibits him from selling her), however when the master was w7pn — 79> her, since the father did not participate in
the 1w 7P, he may be allowed to sell her. However by 1X°1 since the daughter leaves her father’s N1 completely
without any exceptions, there is no reason then to distinguish between 287 "y PRI and 7w Xy (if PR 7190
Tw1y), in all cases the father cannot sell her, since she is no longer in his nMwA. Therefore if 7ww 1POIR T, we can
say that even though the father cannot sell her after he was w7pn her, nevertheless he can sell her after Tv°. However
if 7w PRI 79, then there is no distinction between 72X "'yw PRI and 71¥° *X1W°1; in both cases he cannot sell
her.

17 Previously no0n said that we cannot say that PR3 is 728 MW 1pon, because if a mivp is 792 7ws1 7701 (on
her own she is not 7a& Mwn nR¥Y. How can we say now (in the aw>% w") that 7°mwan a2 7% *poRT P PRIV
aX7 (see text by footnote # 15.), when by f1vp she is not 287 mwan 77 *po1?!

'8 Previously our understanding in >"&1 was that "8W*1 a priori are a8 NWwan XX (therefore there is no distinction
between 2877 *Rw°1 and 7Y X1 for since PRIV is AR MWIR XX, he can never sell her [see footnote # 6]). N1BOIN
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However a mup who gave herself over to ;1271, we do not find that through this
792 717°0n, she leaves her father’s nyw-.

Summary
We can distinguish between 7°017°X of the father and 77 7"017°K regarding the

specific MoK of selling her (for WN7°17 XX 12 72 1°X); however no distinction can be
made (regarding 77°>71) between 2X7 7XW°1 and 77 PRIWI since she leaves his
WA entirely by R,

Thinking it over
Why is there a difference between 72Xy °"y 71vp *X10°1, where she is not Nwn NRXY

287, and T X121 where she is 287 Mwan nxg»?"”

disproved this notion that PXW°1 are 28 MWIM XXM a priori, for 711vp X1 is not 28 MY XX, However now we
are merely saying that wherever 1RW"1 are X Mw7n XX completely without exceptions (which it does by X1
TP R 2X:), there can be no 71737, since she is no longer ax7 Mw7a. However by a i1vp X1, we do not find
that she leaves aXi7 N1, therefore it is not in the category of 713 "KW IR *XWw°1 where she leaves aX7 nwA.

9 See (TrR) R"wAAN.
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